UBUNGSKONIG
Addition 3

1. Setze die Aufgaben um zwei weitere Rechnungen fort.

20 000 + 30000 420 000 + 80 000

120 000 + 30 000

520 000 + 80 000

220 000 + 30 000 620 000 + 80 000

320 000 + 30 000

720 000 + 80 000

2. Rechne die Aufgaben.

150 000 + 470000 = 220 000 + 630000 =
240 000 + 660000 = 140 000 + 290000 =
320000 + 240000 = 220 000 + 730000 =
220 000 + 490000 = 640 000 + 150 000 =
120 000 + 340000 = 330 000 + 360000 =
740 000 + 110 000 = 450 000 + 70 000 =

3. GroBer, kleiner oder gleich? Setze >, < oder = ein.

460 000 270 000 + 210 000 190 000 + 70 000 350 000
950 000 880 000 + 50 000 220 000 + 230 000 420 000
560 000 420 000 + 140 000 180 000 + 280 000 470 000
520 000 120 000 + 350 000 450 000 + 120 000 570 000
210 000 50 000 + 160 000 140 000 + 40 000 190 000
330 000 170 000 + 150 000 530 000 + 350 000 860 000
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